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Tnpsc group I / ii preliminary  
WEEKLY TEST 1 – MONTH OF AUGUST 

BATCH V & KAMARAJAR BATCH 
 

1. Select the correct statement with respect to d-block elements 
a. They are all metals 
b. They show variable valency 
c. They form coloured ions and complex salts 
d. All the above statements are correct 
e. Answer not known 
d- njhFjp jdpkq;fisg; nghWj;j rhpahd $w;Wfisj; Njh;e;njL. 
a. mit midj;Jk; cNyhfq;fs; 
b. mit NtWgl;l ,izjpwd;fisf; nfhz;Ls;sd. 
c. mit epwKs;s madpfisAk;> mizTr; Nrh;kq;fisAk; 
cUthf;Ffpd;wd. 

d. Nkw;$wpa midj;Jk; rhpahdit 
e. tpil njhpatpy;iy 

 
2. Which one of the following is correctly arranged in their increasing 

order reactivity? 
a. Mg > Al > Ca > Na   b. Na > Ca > Mg > Al 
c. Ca > Al > Mg > Na    d. Na > Ca > Al > Mg 
e. Answer not known 
fPo; cs;sstw;wpy;> mtw;wpd; nray;jpwd; mbg;gilapy; VWthpirapy; 
 vJ rhp?  
a. Mg > Al > Ca > Na   b. Na > Ca > Mg > Al 
c. Ca > Al > Mg > Na    d. Na > Ca > Al > Mg 
e. tpil njhpatpy;iy 

 
3. Match the class of compound with its functional group 

Compound    Functional group 
A. Alcohol   1. -COOH 
B. Aldehyde   2. -OH 
C. Ketone    3. -CHO 
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D. Carboxylic acid  4.   O 
               || 
          -C- 
$l;Lg; nghUis mjd; tpidgL njhFjpAld; ,iz 
$l;Lg;nghUs;   tpidgL njhFjp 
A. My;f`hy;   1. -COOH 
B. My;bi`L   2. -OH 
C. fPl;Nlhd;   3. -CHO 
D. fhh;ghf;]pypf; mkpyk; 4.   O 
               || 
                   -C- 
 A B C D 
a 2 1 3 4 
b.  2 3 1 4 
c.  3 2 4 1 
d.  2 3 4 1 
e. tpil njhpatpy;iy 

 
4. The only non – metal which is a liquid at room temperature is  

a. Chlorine  b. Gallium    c. Mercury 
d. Bromine  e. Answer not known 
miw ntg;gepiyapy; jput epiyapy; cs;s xNu mNyhfk; 
a. FNshhpd;  b. fhypak;    c. nkh;Fhp 
d. GNuhkpd;  e. tpil njhpatpy;iy 

 
5. Golden rice is a genetically modified crop.  Where the incorporated 

gene is meant for biosynthesis of 
a. Vitamin A  b. Vitamin B   c. Vitamin C   
d. Vitamin D  e. Answer not known 
Nfhy;ld; mhprp vd;gJ xU kugZ khw;wg;gl;l gaph; MFk;. ,jpy; 
xUq;fpize;j kugZ __________ caphpa nrwpTf;fhdJ. 
a. tpl;lkpd; A  b. tpl;lkpd; B   c. tpl;lkpd; C  
d. tpl;lkpd; D  e. tpil njhpatpy;iy 

 
6. Difference between RNA  and DNA is that of  

a. Phosphate and Sugar  b. Phosphate and Nitrogenous base 
c. Nucleoside and Nucleotide d. Sugar and Nitrogenous base 
e. Answer not known 
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Mh;.vd;.V kw;Wk; b.vd;.V –f;Fk; ,ilapy; cs;s NtWghL vd;gJ 
a. gh];Ngl; kw;Wk; rh;f;fiuapy; cs;sJ 
b. gh];Ngl; kw;Wk; iel;uh[pd]; Ng];-y; cs;sJ 
c. epa+f;spNahirL kw;Wk; epa+f;spNahilby; cs;sJ 
d. rh;f;fiu kw;Wk; iel;uh[pdhy; Ng];-y; cs;sJ 
e. tpil njhpatpy;iy 
 

7. A sudden change of a gene or chromosome from one form to another 
is called 
a. Deletion   b. Duplication       c. Mutation  
d. Inversion   e. Answer not known 
kugZf;fs; kw;Wk; FNuhNkhNrhk;fspy; Vw;gLk; jpBh; khw;wk; 
miof;fg;gLtJ  
a. ,oj;jy;   b. gd;klq;fhjy;  c. rLjp khw;wk;  
d. jiyfPohjy;   e. tpil njhpatpy;iy  

 
8. Consider the following statements 

Siamese twins means  
1. Twins fail to separate completely from each other  
2. Twins have no variability 
a. 1 is correct and 2 is wrong b. 1 is wrong and 2 is correct 
c. Both 1 and 2 are correct d. Both 1 and 2 are wrong  
e. Answer not known 
fPo;f;fz;l thf;fpaq;fis ftdp 
rpakp]; ,ul;ilah; vd;gJ 
1. ,ul;ilah;fs; xUthplkpUe;j xUth; KOikahf gphpahjpUj;jy; 
2. ,ul;ilah;fspilNa NtWghL fhzg;gLtjpy;iy. 
rhpahd tpilia Njh;e;njLf;fTk;. 
rhp jtW kw;Wk; 
a. 1 rhp 2 jtW   b. 1 jtW 2 rhp   c. 1 kw;Wk;2 rhp  
d. 1 kw;Wk; 2 jtW  e. tpil njhpatpy;iy 

 
9. Barr body is  

a. Activated ‘X’ chromosome  b. Inactivated golgi complex 
c. Inactivated ‘X’ chromosome  d. Inactivated dictyosome 
e. Answer not known  
ghh; cWg;G vd;gJ 
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a. nray; epiyapy; cs;s ‘X’ FNuhNkhNrhk;    
b. nray;glhj Nfhy;if $l;L nghUs; 
c. nray;glhj ‘X’  FNuhNkhNrhk;    
d. nray;glhj bf;bNahNrhk; 
e.  tpil njhpatpy;iy 

 
10. Which of the following statements about the early years of the Indian 

National Congress is NOT TRUE? 
a. Indian National Congress was founded in 1885. 
b. Promotion of national unity was its major objective. 
c. It discussed about social reforms. 
d. It strived to create a common political platform. 
e. Answer not known 
,e;jpa Njrpa fhq;fpu]pd; muk;g fhyj;ijg; gw;wpa gpd;tUk; 
$w;Wfspy; vJ rhpahdJ my;y? 
a. 1885y; ,e;jpa Njrpa fhq;fpu]; Jtq;fg;gl;lJ 
b. Njrpa xUikg;ghl;il tsh;g;gJ mjd; Kf;fpa nfhs;ifahFk; 
c. mJ rKjha rPh;jpUj;jq;fs; Fwpj;J tpthjpj;jJ 
d. mJ xU xUq;fpize;j murpay; fsk; cUthf;fg;ghLgl;lJ 
e. tpil njhpatpy;iy 

 

11. Find 74 44 22 5 16+ + + +  
a. 5  b. 7  c. 6  d. 9  e. Answer not known 

74 44 22 5 16+ + + +  d; kjpg;G fhz;f 
a. 5  b. 7  c. 6  d. 9  e. tpil njhpatpy;iy 

 

12. Find the value of   1 1 1 1 1 (1 1 2)  +  +  +    

a. 1

2
  b. 5

8
  c. 8

5
  d. 2  e. Answer not known 

kjpg;G fhz;f: 1 [1 1 [1 1 (1 1 2)]] +  +  +   
a. 1

2
  b. 5

8
  c. 8

5
  d. 2  e. tpil njhpatpy;iy 

 

13. If 9

7

a

b
=  then a b

b b

−

+
=  

a. 1

8
  b. 8  c. 1

7
  d. 9

5
  e. Answer not known 
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9

7

a

b
= vdpy; a b

b b

−

+
= 

a. 1

8
  b. 8  c. 1

7
  d. 9

5
  e. tpil njhpatpy;iy 

 
14. Who is the President of the Congress during Surat Split between the  

Moderates and the Extremists? 
a. Rash Bihari Gosh   b. Pheroze Shah   
c. M.M Malaviya   d. Gopal Krishna Gokhale 
e. Answer not known 
kpjthjpfs; kw;Wk; jPtputhjpfSf;fpilNaahd ‘#uj; gpsT’ Vw;gl;l 
NghJ fhq;fpu]pd; jiytuhf ,Ue;jth; ahh;? 
a. uh~;gpfhp Nfh~;   b. ngNuh~; ~h 

c. kdNkhfd; khy;tpah   d. Nfhghy; fpU~;z NfhfNy 
e. tpil njhpatpy;iy 

 
15. Choose the right answer: 

i. India League founded in 1843 
ii. British India Association founded in Bengal in 1875 
iii. India Association was founded in 1876 
iv. Poona Sarvajanak Sabha setup in 1878 
a. i only  b. ii only     c. iii only   
d. iv only  e. Answer not known 
rhpahd tpilia Njhe;njLf: 
i. ,e;jpa yPf; Muk;gpf;fg;gl;l tUlk; 1843 
ii. Mq;fpy ,e;jpa rq;fk; tq;fhsj;jpy; 1875 Muk;gpf;fg;gl;lJ. 
iii. ,e;jpa rq;fk; 1876 Muk;gpf;fg;gl;lJ 
iv. G+dh rhh;t[df; rgh 1878 y; mikf;fg;gl;lJ. 
a. i kl;Lk;  b. ii kl;Lk;    c. iii kl;Lk;   
d. iv kl;Lk; e. tpil njhpatpy;iy 
 

16. Which of the following is not associated with Gopal Krishna Gokhale? 
a. Monthly Magazine, ‘Voice of India’  
b. Poona Servaj Samaj 
c. Servants of India Society    
d. Secretary of Indian National Congress, 1903 
e. Answer not known 
gpd;tUtdtw;wpy; Nfhghy fpU~;z NfhfNyTld; njhlh;G ,y;yhjJ 
vJ? 
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a. khj ,jo;> ‘,e;jpahtpd; Fuy;’   

b. G+d rhh;th[dpd; rgh 
c. ,e;jpa Copah; rq;fk;    
d. ,e;jpa Njrpaf; fhq;fpurpd; nrayhsh;> 1903 
e. tpil njhpatpy;iy 

 

17. Assertion (A): Dadabai Naoroji organized the East India Association 
in London 
Reason (R): He wanted to influence the British Public opinion 
a. (A) and (R) are true and (R) is the correct explanation of (A) 
b. (A) is true, but (R) is false 
c. (A) is false, but (R) is true 
d. (A) and (R) are true and (R) is not the correct explanation of (A) 
e. Answer not known 
$w;W (A): jhjhgha; nesNuh[p fpof;fpe;jpaf; fofj;ij yz;ldpy; 
cUthf;fpdhh; 
fhuzk; (R): gphpl;b~; nghJkf;fs; fUj;jpd; kPJ nry;thf;F Vw;gLj;j 
tpUk;gpdhh;. 
a. (A) kw;Wk; (R) rhp. kw;Wk;> (R) (A)f;fhd rhpahd tpsf;fk; 
b. (A) rhp Mdhy; (R) jtW 
c. (A) jtW. Mdhy; (R) rhp 
d. (A)kw;Wk; (R) rhp kw;Wk; (R) (A)f;fhd rhpahd tpsf;fky;y 
e. tpil njhpatpy;iy. 

 

18. The third session of the Indian National Congress was presided by 
a. A.O. Hume   b. Annie Besant c. Fakruddin Dyabji 
d. Dadabhai Naoroji e. Answer not known 
%d;whtJ ,e;jpa Njrpa fhq;fpu]; khehL _______ jiyikapy; 
eilngw;wJ. 
a. A.O. `PA+k;   b. md;dp ngrd;l; c. gf;&jpd; jpahg;[p 
d. jhjhgha; nesNuh[p e. tpil njhpatpy;iy 

 

19. ‘Servants of India Society’ was founded by 
a.  Mahathma Gandhi b. Gopala Krishna Gokhale  
c. Subash Chandra Bose e. Dadabhai Naoroji   
e. Answer not known 
‘,e;jpa njhz;lh; rq;fj;ij’ njhlq;fpath; 
a. kfhj;kh fhe;jp  b. Nfhghy fpU~;z NfhfNy  
c. Rgh~; re;jpu Ngh]; d. jhjhgha; nesNuh[p   
e. tpil njhpatpy;iy 
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20. The chairman of the drafting committee of the Indian Constitution 
a. Dr. Rajendra Prasad   b. Dr. B.R. Ambedkar 
c. Jawaharlal Nehru    d. Mahatma Gandhi 
e. Answer not known 
,e;jpa murpay; mikg;gpd; tiuTf;FO jiytuhf ,Ue;jth; 
a. lhf;lh; uhN[e;jpu gpurhj;    b. lhf;lh;.B.R.mk;Ngj;fhh;   
c. [t`h;yhy; NeU     d. kfhj;kh fhe;jp  
e. tpil njhpatpy;iy 

 
21. Who was the true disciple of MG Ranade? 

a. Tilak   b. Gokale    c. Gandhi   
d. B.C.Pal   e. Answer not known 
MG uhdNlapd; cz;ikahd rPlh; ahh;?  
a. jpyfh;   b. NfhfNy   c. fhe;jp   
d. B.C. ghy;   e. tpil njhpatpy;iy 

 
22. Consider the following statements with reference to constituent 

assembly. Which of the statement is correct? 
1. Mahatma Gandhi is not a member of Constituent Assembly 
2. Dr. Rajendra Prasad was elected as President on Dec. 11, 1946 
3. Constituent Assembly was established under the Cabinet Mission’s 

provisions 
4. Constituent Assembly adopted only the National Flag not the 

National Anthem 
a. 1 only   b. 1, 2 and 3 only  c. 2 and 4 only   
d. 1, 2, 3, 4   e. Answer not known 
,e;jpa murpayikg;G eph;za rigapd; thf;fpaj;ij ftdpf;fTk;. fPNo 
Fwpg;gpl;Ls;s thf;fpaq;fspy; vJ/vit rhpahdit? 
1. kfhj;kh fhe;jp ,e;jpa murpaiykg;G eph;za rigapd; cWg;gpdh; 

my;yh; 
2. murpay; eph;za rigapd; jiytuhf lhf;lh; ,uhN[e;jpu gpurhj; 

brk;gh; 11> 1946 Njh;e;njLf;fg;gl;lhh;. 
3. murpay; eph;za rig> Nfgpdl; kp~d; jPh;khdj;jhy; 

cUthf;fg;gl;lJ 
4. Njrpa nfhbia kl;Lk; murpay; eph;za rig Vw;Wf; nfhz;lJ. 

Njrpa fPjj;ij Vw;Wf; nfhs;stpy;iy 
a. 1 kl;Lk;   b. 1, 2, 3 kl;Lk;    c. 2, 4 kl;Lk;    
d. 1, 2, 3,  4   e. tpil njhpatpy;iy 
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23. Which one of the following persons was selected as the President 
temporarily at the first session of constituent Assembly? 
a. Sachidananda Sinha b. Rajendra Prasad      c. Dr. B.R.Ambedkar 
d. K.M.Panikkar  e. Answer not known 
gpd;tUk; egh;fspy; vth; murpay; mikg;G eph;za rigapd; jw;fhypf 
jiytuhf Kjy; $l;lj;jpy; Njh;e;njLf;fg;gl;lth;? 
a. rr;rpjhde;j rpd;`h b. uhN[e;jpu gpurhj; c. lhf;lh;.gp.Mh;.mk;Ngj;fh; 
d. Nf.vk;.gzpf;fh;  e. tpil njhpatpy;iy 

 

24. The value of 225  225  225 + 275  275  275 

225  225 - 225 275 + 275  275 

   

  
1S    

a. 500     b. 600       c. 650     
d. 50   e. Answer not known 
225  225  225 + 275  275  275 

225  225 - 225 275 + 275  275 

   

  
d; kjpg;G 

a. 500  b. 600       c. 650     
d. 50   e. tpil njhpatpy;iy 

  

25. 1

4
of 3

5
 of  6

5
 of a number is 54.  Then the number is 

a. 280  b. 300     c. 320  
d. 350  e. Answer not known 

xU vz;zpd; 
1

4
 gq;fpy; 3

5
 gq;fpy; 6

5
 gq;fhdJ 54 MFk;. vdpy; me;j 

vz;zhdJ       
a. 280  b. 300     c. 320   
d. 350  e. tpil njhpatpy;iy 

 
26. Who among the following was not a member of Drafting Committee? 

a. K.M. Munshi   b. Alladi Krishnaswamy Ayyar 
c. Pattabhi Sitaramayya  d. Krishnamachari 
e. Answer not known 
fPo;fz;ltw;wpy; vth; tiuTf; FOtpy; cWg;gpduhf ,lk; ngwtpy;iy?  
a. K. Kd;rp    b. my;yhb fpU~;zrhkp Iah; 
c. gl;lhgp rpj;jhuhka;ah  d. fpU~;zkhrhhp 
e. tpil njhpatpy;iy 

 
27. Which one of the following pair is not matched correctly? 

a. Constituent Assembly first meeting - Dec 9, 1946 
b. Nehru moved objectives Resolution - Nov 13, 1946 
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c. Final session of Constituent Assembly - Jan 24, 1950 
d. Constituent Assembly adopted National Flag - July 22, 1947 
e. Answer not known 
fPo;f;fz;ltw;wpy; vJ rhpahf nghUe;jtpy;iy? 
a. murpayikg;G eph;za rigapd; Kjy; $l;lk; - brk;gh; 9> 1946 
b. NeU Kf;fpa Nehf;fq;fs; jPh;khdk; murpayikg;G eph;za rigapy; 
nfhz;L te;jJ –  etk;gh; 13> 1946 

c. murpayikg;G eph;za rigapd; ,Wjp$l;lk; - [dthp 24> 1950 
d. murpayikg;G eph;za rig Njrpa nfhbia Vw;Wf;nfhz;l ehs; – 
[_iy 22> 1947 

e. tpil njhpatpy;iy 
 
28. The three British Cabinet Members of the Cabinet Mission 1946. 

a. Pathick Lawrence, Sir Stafford Cripps, AV Alexander 
b. A. V Alexander, Sir Stafford Cripps, Mountbatten 
c. Mountbatten, Pathick Lawrence, AV Alexander 
d. Sir Stafford Cripps, Pathick Lawrence, Mountbatten 
e. Answer not known 
fhgpndl; J}Jf; FO 1946-y; ,lk;ngw;w gphpl;b~; mikr;ruitiar; 
Nrh;e;j %d;W Ngh; 
a. ngjpf;yhud;];> rh; ];lhNghh;L fphpg;];> V.tp.mnyf;rhe;jh; 
b. V.tp.mnyf;rhe;jh;;> rh; ];lhNghh;L fphpg;];> kTz;l; Ngl;ld; 
c. kTz;l; Ngl;ld;> ngjpf;yhud;];> V.tp.mnyf;rhe;jh; 
d. rh; ];lhNghh;L fphpg;];> ngjpf;yhud;];> kTz;l; Ngl;ld; 
e. tpil njhpatpy;iy  

 
29. The Act of _______ introduced separate electorates for Muslims. 

a. 1919 b. 1935 c. 1947 d. 1909  e. Answer not known 
________ Mz;L rl;lk; ,];yhkpaUf;nfd jdp gpujpepjpj;Jtj;ij 
mwpKfk; nra;jJ. 
a. 1919 b. 1935 c. 1947 d. 1909   e. tpil njhpatpy;iy 

 
30. Need for a constitution for free India was first suggested by 

a. Motilal Nehru  b. M.N. Roy  c. Subash Chandra Bose 
d. Mahatma Gandhi  e. Answer not known 
Rje;jpu ,e;jpahtpw;F Xh; murikg;Gr; rl;lk; Ntz;Lk; vd Kjypy; 
ghpe;Jiuj;jth; 
a. Nkhjpyhy; NeU  b. M.N. uha;  c. Rgh~; re;jpuNgh]; 
d. kfhj;kh fhe;jp  e. tpil njhpatpy;iy 
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31. The 18th Wildlife sanctuary of Tamil Nadu is named after 
a. Thanthai Periyar   b. Arignar Anna  
c. Kalaignar Karunanidhi  d. Nammazhwar   
e. Answer not known 
jkpo;ehl;bd; 18tJ tdtpyq;F ruzhyak; ahUila epidthf 
ngahplg;gl;Ls;sJ? 
a. je;ij nghpahh;  b. mwpQh; mz;zh c. fiyQh; fUzhepjp 
d. ek;kho;thh;   e. tpil njhpatpy;iy 
 

32. Tamil writer Perumal Murugan has been selected for Booker Prize 
longlist for his book ______ 
a. One Part Woman  b. Pyre    c. Poonachi  
d. Vekkai    e. Answer not known 
jkpo; vOj;jhsh; ngUkhs; KUfd; Gf;fh; ghpR ePz;l gl;baYf;F 
Njh;e;njLf;fg;gl;ljw;fhd Gj;jfk; 
a. khnjhU ghfd;  b. g+f;Fop    c. g+dhr;rp 
d. ntf;if   e. tpil njhpatpy;iy 
 

33. Which of the following is not an objective of the Tamilnadu Organic 
Farming Policy 2023? 
a. Strengthen Organic Certification System 
b. Propogration of Traditional seeds 
c. Cluster-bsed dryland cultivation 
d. None of these 
e. Answer not known 
gpd;tUtdtw;Ws; vJ jkpo;ehL ,aw;if Ntshz;ik nfhs;if 
2023,d; Nehf;fk; my;y? 
a. fhpk rhd;wspg;G Kiwia tYg;gLj;Jjy; 
b. Ghuk;ghpa tpijfisg; gug;Gjy; 
c. njhFg;G mbg;gilapyhd cyh;epy rhFgb 
d. Nkw;fz;l vJTkpy;iy 
e. tpil njhpatpy;iy 

 
34. The first state in India to pass Right to Health Bill 2022 is 

a. Tamil Nadu  b. Kerala    c. Punjab 
d. Rajasthan  e. Answer not known 
Rfhjhu chpik kNrhjh 2022 I ,aw;wpa ,e;jpahtpd; Kjy; khepyk;  
a. jkpo;ehL  b. Nfusk;    c. gQ;rhg; 
d. ,uh[];jhd;  e. tpil njhpatpy;iy 
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35. Identify the rightly matched pairs 
1. Raisina Dialogue - New Delhi 
2. Bahu Balli  - World’s first bamboo barrier 
3. PM MITRA  - Farmers Welfare Scheme 
a. 1 and 2 only   b. 1 only    c. 1 and 3 only 
d. All the above  e. Answer not known 
rhpahf nghUe;jpAs;s ,izfisf; fz;lwpf 
1. nua;rpdh Ngr;Rthh;j;ij  - GJnly;yp 
2. ghFgyp – cyfpd; Kjy; %q;fpy; jil 
3. PM MITRA – tptrhapfs; eyj;jpl;lk; 
a. 1 kw;Wk; 2 kl;Lk;  b. 1 kl;Lk;    
c. 1 kw;Wk; 3 kl;Lk;  d. ,it midj;Jk;  

e. tpil njhpatpy;iy 
 

36. If 

3 3

2 2

(13) (7)
20

(13) (7) x

+
=

+ −
 then x is 

a. 6  b. 20  c. 91  d. 31  e. Answer not known 
3 3

2 2

(13) (7)
20

(13) (7) x

+
=

+ −
 vdpy; x -d; kjpg;G fhz;f 

a. 6  b. 20  c. 91  d. 31  e. tpil njhpatpy;iy 
 

37. The value of 
1

2
3

1
2

2

+

+

is  

a. 5

19
  b. 19

5
  c. 4

5
  d. 5

4
  e. Answer not known 

kjpg;G fhz;f 
1

2
3

1
2

2

+

+

 

a. 5

19
  b. 19

5
  c. 4

5
  d. 5

4
  e. tpil njhpatpy;iy 

 

38. 
Find the value of  

1
?

7 5
=

−
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a. 2    b. 12     c. 
7 5

2

+
   

d. 
7 5

2

−
   e. Answer not known

 

kjpg;G fhz;f: 
1

?
7 5

=
−

 

a. 2    b. 12     c. 
7 5

2

+
   

d. 
7 5

2

−
   e. tpil njhpatpy;iy

 
 

39. The exclusive economic zones of a country extend up to _____ nautical 
miles from the border 
a. 100 b. 150 c. 200 d. 370 e. Answer not known 
xU ehl;bd; gpuj;Naf nghUshjhu kz;lyk; mjd; vy;iyapypUe;J 
_____ fly; iky;fs; ePz;Ls;sJ 
a. 100 b. 150 c. 200 d. 370 e. tpil njhpatpy;iy 
 

40. Identify the correct statements 
1. India launched ‘International Big Cat Alliance’ under its leadership  
2. It aims to protect seven major big cat 
3. It aims to reach out to 50 range countries for membership 
a. 1 and 3 only   b. 1 only    c. 1 and 2 only 
d. All of these   e. Answer not known 
rhpahd $w;Wfisf; fz;lwpf 
1. ,e;jpah> jdJ jiyikapd; fPo; rh;tNjr ngUk; g+id $l;lzpiaj; 
njhlq;fpAs;sJ 

2. ,J VO Kf;fpa ngUk;g+idfspd; ghJfhg;ig Nehf;fp nray;gLk; 
3. ,J ngUk;g+id ,aw;if tuk;gpy; cs;s 50 ehLfis 
cWg;gpduhf;f KidfpwJ 

a. 1 kw;Wk; 3 kl;Lk;  b. 1 kl;Lk;     c. 1 kw;Wk; 2 kl;Lk; 
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

41. Crypto currency trading and services has been brought under the 
gambit of 
a. Income Tax Act, 1961 
b. Prevention of Money Laundering Act, 2002 
c. Consumer Protection Act, 2019 
d. Foreign Contribution (Regulation) Act, 2010 
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e. Answer not known 
fphpg;Nlh fud;rp th;j;jfk; kw;Wk; Nritfs; ve;j rl;lj;jpd; fPo; 
nfhz;L tug;gl;Ls;sJ? 
a. tUkhdthpr; rl;lk;> 1961 
b. gzNkhrb jLg;Gr; rl;lk;> 2002 
c. Efh;Nthh; ghJfhg;Gr; rl;lk;> 2019 
d. ntspehl;L epjpAjtp (xOq;FKiw) rl;lk;> 2010 
e. tpil njhpatpy;iy 

 
42. Which Airport is declared the World’s Best Airport 2023? 

a. New Delhi  b. Dubai    c. Istanbul 
d. Singapore  e. Answer not known 
‘cyfpd; kpfr; rpwe;j tpkhd epiyak; 2023’ vd;W mwptpf;fg;gl;Ls;s 
tpkhd epiyak; vJ? 
a. GJnly;yp  b. Jgha;    c. ,];jhd;Gy; 
d. rpq;fg;g+h;  e. tpil njhpatpy;iy 
 

43. Which of the following state is not included in the Green National 
Highway Corridor Project? 
a. Rajasthan   b. Gujarat   c. Uttar Pradesh 
d. Andhra Pradesh  e. Answer not known 
gRik Njrpa neLQ;rhiy topj;jlq;fs; jpl;lj;jpy; ,izf;fg;glhj 
khepyk; vJ? 
a. ,uh[];jhd;   b. F[uhj;    c. cj;jpugpuNjrk; 
d. Me;jpugpuNjrk;  e. tpil njhpatpy;iy 
 

44. What is the characteristic of a superior who knows duty? 
a. He will do charity when there is wealth 
b. He will do not charity when there is no wealth 
c. will not scant their benevolence even when they are without 

wealth. 
d. a and c 
e. Answer not known 
xg;GuT mwpe;j mwpTilNahhpd; gz;G ahJ? 
a. nry;ttsk; cs;s fhyj;jpy; xg;GuT nra;th;  
b. nry;ttsk; ,y;yhj fhyj;jpy; xg;GuT nra;ahh;  
c. nry;ttsk; ,y;yhj fhyj;jpYk; xg;GuTf;F jsu khl;lhh;.  
d. a kw;Wk; c  
e. tpil njhpatpy;iy 
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45. The chapter charity comes under which Part? 

a. Paiyiram  b. Illaraviyal   c. Thuravaraviyal  
d. Oozhiyal  e. Answer not known 
<if vDk; mjpfhuk; mike;Js;s ,ay; vJ? 
a. ghapuk;   b. ,y;ywtpay;   c. Jwtwtpay; 
d. Copay;  e. tpil njhpatpy;iy 

 
46. Which among the following is the safest place for wealthy people to 

save their earned money? 
a. Bank    b. Poor’s Stomach   c. Temple  
d. None of these  e. Answer not known 
nry;te;jh;f;F nry;tj;ij ghJfhj;J itg;gjw;F rpwe;j ,lkhf 
miktJ vJ? 
a. tq;fp    b. twpath;fspd; tapW  c. Nfhtpy; 
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

47. Which is the greatest source of profit to life? 
a. Thoandrin pukazhodu thoandruka 
b. Pukazhpada vaazhaadhaar thannhoavar  
c. Vasaiyozhiya vaazhvaarae vaazhvaar 
d. eedhal isaipada vaazhdhal  
e. Answer not known 

 capUf;F CjpakhtJ ahJ? 
a. Njhd;wpd; GfnohL Njhd;Wf b. Gfo;gl thohjhh; je;Nehthh;  
c. tirnahopa tho;thNu tho;thh;  d. <jy; ,irgl tho;jy;  

 e. tpil njhpatpy;iy 
 

48. There is nothing that stands forth in the world imperishable, except 
________ 
a. wealth     b. fame   d. mendicancy  
d. the dread of mendicancy e. Answer not known 
cyfj;jpy; xg;gw;w xU nghUshf mopahky; epiyepw;f ty;yJ vJ?  
a. nry;tk;    b. Gfo;    c. ,uT   
d. ,utr;rk;     e. tpil njhpatpy;iy 

 
49. 35 3  is equal to  

35 3vd;gJ vjw;Fr; rkk; 
a. 3 15   b. 3 375     c. 3 75    
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d. 3 45   e. Answer not known 

50. Evaluate 13 12 8 3 7 63

18 39 9 4 9 36

− − −     
 −  +      

− −     
 

kjpg;gpLf:  
13 12 8 3 7 63

18 39 9 4 9 36

− − −     
 −  +      

− −     
 

a. 0   b. -1      c. 2    
d. 1   e. Answer not known 

 


